BRLPS Community
Coordinator Set 5

Topic:- BRPLS_AUG19_CC_S5_COMP

1) Which among the following is used to move data from one part of the document to another?

ST &I STFgFE & Tah 1T § GEY 19T & & o & o feafaf@a # ¥ fraeet v gYar 82 [Question ID =
929]

1. copy and undo / &rdY 3R 3175 [Option ID = 3716]
2. copy and paste / &Y 3iX 9¥e [Option ID = 3714]
3. cut and delete / &e 3R f3efie [Option ID = 3715]
4, cut and paste / ¢ 3R 9¥c [Option ID = 3713]

Correct Answer :-
o cut and paste / ¢ 3R 9Fc [Option ID = 3713]

2) Inkjet printers and laser printers are example of

gaee T 3 A A & 3g1eYT § | [Question ID = 926]

1. impact printer / ¥de¢ X [Option ID = 3702]

2. daisy-wheel printer / 3fi-ggrer f9eX [Option ID = 3703]
3. dot matrix printer / sfc Afed fex [Option ID = 3704]
4, non-impact printer / 3R ¥ X [Option ID = 3701]

Correct Answer :-
« non-impact printer / 3R g¥dee e [Option ID = 3701]

3) The operation of combining two cells into a single cell in Excel is referred to as which among
the following?

THIA H QY A F) T 3ho A F st H yfhan F RAeafaf@a F @ w31 w@eféia fFar smar 82 [Question ID
= 930]

1. club cells / F&a ded [Option ID = 3717]
2. merge table / #sT &=l [Option ID = 3719]
3. merge cells / # Fed [Option ID = 3718]
4. club table / Fele ¢&el [Option ID = 3720]

Correct Answer :-
« merge cells / #ST @ed [Option ID = 3718]

4) Which of the following commands is used to give a file a name and location?

fF T & & FiaT W FATS FT 3TN e FY AH 3 AFAA 23 & v Far S1ar 82 [Question ID = 927]

1. paste / 9¥< [Option ID = 3708]
2. save As / &g U3 [Option ID = 3706]
3. creating a file / BIge dTAT [Option ID = 3707]



4, save / &g [Option ID = 3705]

Correct Answer :-
« save As / &9 U3 [Option ID = 3706]

5) Part of the computer, where data and instructions are held for processing is known as:-

FCYET FT T fEd1, 78T 3e71 3N Aer qwFaor & fov W@ o §, 39 ® # 11 A1 §:- [Question ID =
928]

1. floppy disk / FalTdY f8¥a [Option ID = 3712]

2. accumulator / 31egFIeeX [Option ID = 3710]
3. memory unit / AART Ffie [Option ID = 3711]
4. register unit / IS feie [Option ID = 3709]

Correct Answer :-
+ memory unit / AARY FfAe [Option ID = 3711]

Topic:- BRPLS_AUG19_CC_S5_LR

1) What was the day on 15-Aug-1947?

15-3191Fd 1947 FY &isT AT @t 41? [Question ID = 826]

1. Tuesday / #TeldR [Option ID = 3304]
2. Thursday / I[&aX [Option ID = 3303]
3. Friday / [shaR [Option ID = 3301]

4. Wednesday / @R [Option ID = 3302]

Correct Answer :-
+ Friday / [sharX [Option ID = 3301]

2) Fill in the blank series with the following given options:-
BQDX, FQHX, JQLX, ....,, RQTX
frrafaf@a Rw v fwreat & wryr Rea e ai:-

BQDX, FQHX, JQLX, ...., RQTX
[Question ID = 824]

1. GQMX [Option ID = 3293]
2. NQPX [Option ID = 3295]
3. HQPX [Option ID = 3294]
4. MQNX [Option ID = 3296]

Correct Answer :-
« NQPX [Option ID = 3295]

3) In the question below there are two statements followed by two conclusions. You have to
assume two statements to be true even if they are factually wrong and decide which conclusion
the statement follows:-



Statement:
I: All cars are trucks
II: All trucks are Bus

Conclusion:
I: All cars are Bus
II: No truck is Bus

AR T 1T Toa A Fuer Rw 71w &, s A 3a9%F sy off R arv &1 39 Re 710 Fy=t #) 97 AT,
oo @ 3 g aLat @ fieer g 3k I7 iR e o B e ar fsad e are et &1 srepeRor Far 1

HYe:
LaftaReF 1
II: @it e aa §

IGA=a F
I g SR a0 &
I FSTACH ST ACT &

[Question ID = 825]

1. Both Conclusion I and II follow / feisehd I 3R II @it 37o78ROT &<l &1 [Option ID = 3299]

2. Neither Conclusion I nor II follows / #T @Y forsehy I &1 &1 1T 31T 8R0T ¥ g [Option ID = 3300]
3. Only Conclusion 1I follows / el felsehy IT 37T &R0T 3T & | [Option ID = 3298]

4. Only Conclusion I follow / sharef feiseh I 3feT&ROT &l &1 [Option ID = 3297]

Correct Answer :-
« Only Conclusion I follow / dhaer sy 1 37T ETOT AT g1 [Option ID = 3297]

4) What is the angle formed between top vertical axis and hour hand and minute hand
respectively in a clock which shows the time 4:08?

S T3 A 4:08 FT HAT g1 ¢, A TS F iaaed a7 3R & F & AR Pere i g§ F i F1 FHior fram grem?
[Question ID = 827]

1. 1240, 480 [Option ID = 3307]

2. 141.59, 480 [Option ID = 3305]
3. 139.59, 12.5° [Option ID = 3306]
4. 44.59, 1150° [Option ID = 3308]

Correct Answer :-
e 1240, 480 [Option ID = 3307]

5) If SURBHI can be written as RTQAGH, how can JIVI be written in that code ?

If SURBHI % RTQAGH & ¥ & for@1 3T @& §, aY 39 13 & JIVI # F form@T o1 ashar 82
[Question ID = 823]

1. IGKG [Option ID = 3291]
2. IHUH [Option ID = 3289]
3. GKIK [Option ID = 3292]
4. CNDN [Option ID = 3290]

Correct Answer :-



« IHUH [Option ID = 3289]

Topic:- BRPLS_AUG19_CC_S5_MATH

1) A sum was put at simple interest at a certain rate for 3 years. Had it been put at 4% higher
rate, it would have fetched Rs. 600 more. Find the sum.

TS YA Y YR 3151 T 3 T & FAT vk AR a0 o 1@ 37| IfE 38 4% 31fOe &7 9¥ @1 arm gt
ar g8« 600%. 37TAF e fFv| gafy Fva S|

[Question ID = 978]

1. Rs. 7200 / %. 7200 [Option ID = 3911]
2. Rs. 2500 / %. 2500 [Option ID = 3910]
3. Rs. 1800 / &. 1800 [Option ID = 3912]
4. Rs. 5000 / &. 5000 [Option ID = 3909]

Correct Answer :-
e Rs. 5000 / %. 5000 [Option ID = 3909]

2) Manish got 50% concession on the labelled price of an article and sold it for Rs. 8400 with
40% profit on the price he bought. What was the labelled price?

FAN B TF € F A qeT W 50% FHr Raraa el 3k sva @0 715 Frova | 40% amer F wrer
Rs.8400 # 33 o= M| 3ifha e = am?

[Question ID = 979]

1. Rs. 3000 / %. 3000 [Option ID = 3915]
2. Rs. 12000 / %. 12000 [Option ID = 3913]
3. Rs. 6000 / %. 6000 [Option ID = 3914]
4. Rs. 4800 / %. 4800 [Option ID = 3916]

Correct Answer :-
e Rs. 12000 / %. 12000 [Option ID = 3913]

3) Find the Lowest Common Multiple (LCM) of 0.75, 1.25, and 0.55.

0.75, 1.25, 3iX 0.55 & TgTH FAGTA (LCM) A1 Hifaw]
[Question ID = 975]

1. 4125 [Option ID = 3898]
2. 25.41 [Option ID = 3899]
3. 2.55 [Option ID = 3900]

4. 41.25 [Option ID = 3897]

Correct Answer :-
e 41.25 [Option ID = 3897]

4) A mixture contains alcohol and water in the ratio 6 : 5. If 8 litres of water is added to the
mixture, the ratio becomes 6 : 7. Find the quantity of alcohol in the given mixture.



v TAHOT & reigter 3 ATl 6 1 5 % Ireparar A §| I arelt F 8 efrex el e S ¥ & a6 : 7 @
ST | WTeet U fAor # srehige Y AT AT FX| [Question ID = 977]

1. 10 litres / 10 #feX [Option ID = 3907]
2. 24 litres / 24 ofeX [Option ID = 3905]
3. 32 litres / 32 <reX [Option ID = 3906]
4, 12 litres / 12 ofieX [Option ID = 3908]

Correct Answer :-
o 24 litres / 24 ofieX [Option ID = 3905]

5) Find the average of first 30 natural number.

wouH 30 Tifasw aEanst #1 3twa e | [Question ID = 976]

1. 15 [Option ID = 3903]
2. 15.5 [Option ID = 3901]
3. 7.5 [Option ID = 3904]
4. 14.5 [Option ID = 3902]

Correct Answer :-
e 15.5 [Option ID = 3901]

Topic:- BRPLS_AUG19_CC_S5_GK
1) Where is Abdul Bari bridge in Bihar?

3reger a1t g fAgR # F@i 82 [Question ID = 2376]

1. Hajipur / gTsiqR [Option ID = 9501]

2. Samastipur / FHECTYY [Option ID = 9504]

3. Sonpur / &YX [Option ID = 9502]

4. Bakhtiyarpur / STETIRYT [Option ID = 9503]

Correct Answer :-

2) Where is the headquarters of East-Central Railway?

qdf-7ET Y T AEATT F81 o2 [Question ID = 2380]

1. Hajipur / gTsiqR [Option ID = 9517]

2. Patna / 9&aT [Option ID = 9519]

3. Bhagalpur / #mTerq [Option ID = 9520]

4. Bakhtiyarpur / ST&IIRYY [Option ID = 9518]

Correct Answer :-
o Hajipur / ETthT [Option ID = 9517]

3) Which of the following instrument is used to measure the intensity of earthquakes?

&9 Y gt : A F e Frafaf@a F & $laar a7 g3 R srare?
[Question ID = 2363]

1. siesmograph / fFATIm® [Option ID = 9449]
2. spectrometer / TdereIHE [Option ID = 9450]



3. thermometer / 2rATHIexX [Option ID = 9452]
4. barometer / sR1HTeX [Option ID = 9451]

Correct Answer :-
« siesmograph / f&EAT®E [Option ID = 9449]

4) Which of the following trains goes from Bihar?

Prafafaa & #ia @ i Rer & e §?
[Question ID = 2379]

1. Ispat Express / 39T Taa9d [Option ID = 9513]

2. Sabarmati Express / |ISHAT THa9d [Option ID = 9514]
3. Gitanjali Express / 3frdrsifer tea@9® [Option ID = 9515]
4. All of these / &3t fdsed [Option ID = 9516]

Correct Answer :-

5) Which among the following is the currency of China?

farafaf@a & & wlad Hia Fr qa8?
[Question ID = 2367]

1. Yen / 3T [Option ID = 9465]

2. Rupees / 9T [Option ID = 9467]

3. Yuan / g31TsT [Option ID = 9466]

4, None of these / 3o137 & 15 8t /18T [Option ID = 9468]

Correct Answer :-
* Yuan / 37T [Option ID = 9466]

6) Which is the tallest peak in the Himalayan mountain range?

RATerT wdaaTen F ga@ = fraw FT ar §?
[Question ID = 2364]

1. Tirich Mir / faR@ #R [Option ID = 9456]

2. Kunlun / FefeT [Option ID = 9455]

3. Hindu Kush / fg=ggher [Option ID = 9453]

4, Mount Everest / AT3¢ Ta¥e [Option ID = 9454]

Correct Answer :-
« Mount Everest / #AT3€ Tai¥e [Option ID = 9454]

7) As per Indus Water Treaty, Pakistan can use the water of these western rivers without any
restriction:-

ey srer wosla & areTar go7 afvash Al & arelt it mifdearer faem frelt wfaraeer & war w3 wFar g:-
[Question ID = 2366]

1. Indus, Jhelum and Sutlej / ﬁlﬁg, ?WU?H?—!@GT [Option ID = 9464]



2. Indus, Jhelum and Chenab / =%, gtele¥ Td =TT [Option ID = 9463]
3. Ravi, Beas and Sutlej / T, sa19 Ta HdeloT [Option ID = 9462]
4. Ravi, Jhelum and Sutlej / TrdlY, SIeTd Td TcleloT [Option ID = 9461]

Correct Answer :-
« Indus, Jhelum and Chenab / f&=%], S¥er# Td faIeTTa [Option ID = 9463]

8) Who has control of maximum roads in Bihar?

fSeR & i Fsa! F1 =0T fFa® 9 &2 [Question ID = 2384]

1. District Council / fotelT aRkwg [Option ID = 9534]

2. None of these / 3o18 & H1$ &Y 18T [Option ID = 9536]
3. National Highway / Ts€rr IrsTATeT [Option ID = 9535]
4. PWD [Option ID = 9533]

Correct Answer :-
« District Council / T5reIr 9w [Option ID = 9534]

9) Which airport is the most used to travel from Bihar to Nepal?

R & Aurer 5= & forw @i fha gar$ 3133 &1 y=er R Sitar 82 [Question ID = 2373]

1. Gaya Airport / 33T gaT$ 31337 [Option ID = 9489]

2. Raxaul Airport / Y&l aT8 3133T [Option ID = 9490]

3. Bhagalpur Airport / $ITTeTqY aT$ 31g8T [Option ID = 9491]
4. Rajgir Airport / TSI gaTs 3783T [Option ID = 9492]

Correct Answer :-
« Raxaul Airport / T&dteT gaT$ 3133T [Option ID = 9490]

10) "Iris" is a part of which human organ?

"IENT" AT R &F 7 37T § FFaT 82 [Question ID = 2354]

1. Brain / f&#TeT [Option ID = 9416]
2. Intestine / 37T [Option ID = 9415]
3. Ear / =l [Option ID = 9413]

4, Eyes / 3T [Option ID = 9414]

Correct Answer :-
« Eyes / 3@ [Option ID = 9414]

11) Prime minister Modi announced the demonetization of Rs 500 and Rs 1000 on .
FUTTHA RIS & 500 74T 1000 F A1e F o #r viyon ko)
[Question ID = 2360]

1. 10t November 2016 / 10 AdsX 2016 [Option ID = 9439]
2. 15™ December 2016 / 15 f&&sT 2016 [Option ID = 9440]
3. 8" November 2016 / 8 sid&x 2016 [Option ID = 9437]
4. 8t October 2016 / 8 31e¢sY 2016 [Option ID = 9438]

Correct Answer :-



+ 8™ November 2016 / 8 #ds¥ 2016 [Option ID = 9437]

12) Which place in Bihar has a flying and gliding club?

R & fFE STeTg 9T FeTEer 31 TS Forw 82 [Question ID = 2371]

1. Patna / 9edT [Option ID = 9483]

2. Munger / HIR [Option ID = 9484]

3. Darbhanga / g3879 [Option ID = 9482]

4. Muzaffarpur / HTFHIGY [Option ID = 9481]

Correct Answer :-
« Patna / 9edT [Option ID = 9483]

13) Which place of Bihar does not have an airport?

AR & P9 T W ga1$ 37337 A1 82 [Question ID = 2374]

1. Raxaul / T&dter [Option ID = 9494]

2. Patna / 9eaT [Option ID = 9495]

3. Munger / HIR [Option ID = 9496]

4. Muzaffarpur / HTFHIGY [Option ID = 9493]

Correct Answer :-

14) How many airports are there in Bihar?

fagr # fora«t gar$3133 §2 [Question ID = 2375]

1. 6 [Option ID = 9498]
2. 9 [Option ID = 9500]
3. 8 [Option ID = 9499]
4. 4 [Option ID = 9497]

Correct Answer :-
o 8 [Option ID = 9499]

15) Under whose leadership as Prime Minister in India was the Indus Water Treaty signed in
1960?

HRT F T & T F Tl Iregatar & g 1960 # ey et aovsita w geanar fham = ar?
[Question ID = 2361]

1. Rajiv Gandhi / Irsfta amefy [Option ID = 9442]
2. Indira Gandhi / $fexT el [Option ID = 9443]
3. None of these / 373 & 1S off A&T [Option ID = 9444]
4, Jawaharlal nehru / STaTgIelTel g% [Option ID = 9441]

Correct Answer :-
« Jawaharlal nehru / STATEITe sig% [Option ID = 9441]

16) From which of the following were the rights of the Fundamental Rights in India adopted?

rafaf@a & 9 fFad 9RT o #ifos IRVFERT F F0FR 7 rvga=ar ?



[Question ID = 2362]

1. United States / &ged Isd 1A [Option ID = 9447]
2. France / W& [Option ID = 9446]

3. England / i3 [Option ID = 9445]

4. All of these / T fdsed [Option ID = 9448]

Correct Answer :-
o All of these / @ fdshed [Option ID = 9448]

17) Where does the Grand Trunk Road from Varanasi in Bihar start?

far & arroredt @ #3 &F V3 FaT ¥ Yw a1 82 [Question ID = 2385]

1. Fatuha / Bdel [Option ID = 9540]

2. Mohaniya / AT [Option ID = 9539]

3. Patna / 9&aT [Option ID = 9537]

4. Bakhtiyarpur / ST&TIRYY [Option ID = 9538]

Correct Answer :-
« Mohaniya / Higfrar [Option ID = 9539]

18) Olympics are held at a gap of how many years?

el fras arel & 3ratre # 3mAfST Fo st €2 [Question ID = 2356]

1. 6 years / 6 a¥ [Option ID = 9424]
2. 4 years / 4 @¥ [Option ID = 9422]
3. 5 years / 5 @ [Option ID = 9423]
4, 3 years / 3 a¥ [Option ID = 9421]

Correct Answer :-
e 4 years / 4 a¥ [Option ID = 9422]

19) Which train does not run in Bihar?

R & i ®@ &7 7€ T &2 [Question ID = 2377]

1. Vikramshila Express / fasrafRrem wego [Option ID = 9505]
2. North Bihar Express / 3ccil [9gR Tea9d [Option ID = 9508]
3. Kalinga Express / @felaT taau [Option ID = 9507]

4, Rajdhani Express / IsT4Teil Ter@9d [Option ID = 9506]

Correct Answer :-
o Kalinga Express / feieT taa9d [Option ID = 9507]

20) How is Bihar in relation to rail transport compared to other states?
I At HY Feraar F Yo aRager & waw #F fgr fra Rufa a7 82
[Question ID = 2381]

1. Six / && [Option ID = 9524]

2. Fifth / 9rard [Option ID = 9523]
3. Third / @&X [Option ID = 9521]
4, Fourth / 9% [Option ID = 9522]



Correct Answer :-

21) What is the full form of ‘SMS’ ?

'SMS' &7 qut ¥ &1 8?2 [Question ID = 2357]

1. Smart Message Service / THIC AT TG [Option ID = 9428]

2. Safe Messaging Service / @% FATSeT @faT [Option ID = 9425]

3. Short Message Service / ¢ AT TIAH [Option ID = 9426]

4. Signal Messaging Service / f@sTer ARSI @fdw [Option ID = 9427]

Correct Answer :-
« Short Message Service / 2If¢ AT @G [Option ID = 9426]

22) Which national waterway passes through Bihar?

fER @ o7 @1 U ST e §2 [Question ID = 2370]

NW-2 [Option ID = 9478]
NW-4 [Option ID = 9480]
NW-1 [Option ID = 9477]
NW-3 [Option ID = 9479]

HwOwnN =

Correct Answer :-
e NW-1 [Option ID = 9477]

23) Which national highway has the longest length in Bihar?

faeR & fFa TE TSTATT $ir Faifds d@91$ 8?2 [Question ID = 2388]

1. NH-80 [Option ID = 9552]
2. NH-30 [Option ID = 9550]
3. NH-31 [Option ID = 9551]
4. NH-28 [Option ID = 9549]

Correct Answer :-
e NH-31 [Option ID = 9551]

24) The term ‘knock out’ is related to which of these sports?

"AiTeh HT3C' Ueq SN W Fy @ F Wafa 82 [Question ID = 2355]

1. Chess / 2Tt [Option ID = 9420]
2. Tennis / ¢fad [Option ID = 9418]
3. Swimming / RTehT [Option ID = 9417]
4. Boxing / HeFhaTell [Option ID = 9419]

Correct Answer :-
« Boxing / FFhaTsil [Option ID = 9419]

25) The Chief Election Commissioner of India is appointed by whom?

AR F A& et 3rgFa # fras ganrt fagsa fr smar 82 [Question ID = 2368]

1. Prime Minister of India / #Rd o FumeTaar [Option ID = 9471]
2. President of India / R & Irsgufd [Option ID = 9469]



3. Vice President of India / ¥R & 39rsgqid [Option ID = 9470]
4, Chief Justice of India / IRd & Aeq =grarefrer [Option ID = 9472]

Correct Answer :-
o President of India / %R & Irseufd [Option ID = 9469]

26) What is the minimum age criteria for contesting for presidentship in India?

R H Togafar 1 gorg aga fw s=geraer amg Far 8?2
[Question ID = 2365]

1. 35 years / Gref [Option ID = 9457]
2. 28 years / "Tef [Option ID = 9459]
3. 21 years / @reT [Option ID = 9460]
4. 30 years / dTel [Option ID = 9458]

Correct Answer :-
» 35 years / Grel [Option ID = 9457]

27) What is the total length of railroads in Bihar?
faER & Yowmt fr For o=1s 82
[Question ID = 2382]

1. 2,688 fF#T / 2,688 km [Option ID = 9525]
2. 5,188 sl / 5,188 km [Option ID = 9527]
3. 2,788 feY / 2,788 km [Option ID = 9526]
4. 6,688 R#T / 6,688 km [Option ID = 9528]

Correct Answer :-
5,188 fhadt / 5,188 km [Option ID = 9527]

28) Which of these national waterways is not used by steamers in Bihar?

FAH A FieT T TET FTAAT fAgR F TOFR g@RT 39T 7T 337 S §2 [Question ID = 2369]

1. Bari Ghat to Mahadevpur Ghat / SR €T€ & #gIed9R e [Option ID = 9475]
2. Mokama to Barauni / AT & sRI=iT [Option ID = 9473]

3. Mahendra Ghat to Patna / #gg, aTc & geaT [Option ID = 9474]

4. Patna to Meenapur / 9T & #I=AT9Y [Option ID = 9476]

Correct Answer :-
« Patna to Meenapur / 9T & #I=ATgX [Option ID = 9476]

29) Which of the following national highways does not go through Bihar?

farfaf@a # sl a1 wsdrr ToraAnt R & A ST §2 [Question ID = 2387]

1. NH-15 [Option ID = 9545]
2. NH-81 [Option ID = 9547]
3. NH-30 [Option ID = 9546]
4. NH-85 [Option ID = 9548]



Correct Answer :-
e NH-15 [Option ID = 9545]

30) Which of the following personalities is known as ‘Father of Indian Constitution’?

AT & ¥ FiT 91 T "HRAT AT F1 6" F T & AT 14T &2 [Question ID = 2358]

1. Dr B.R. Ambedkar / 3T &Y.31R. 37#=8a [Option ID = 9431]
2. Dr Rajendra Prasad / 3 Ieig 941G [Option ID = 9430]

3. Jawahar Lal Nehru / SaTgx &Tel a8 [Option ID = 9429]
4, Sardar Patel / TG 9cel [Option ID = 9432]

Correct Answer :-
« Dr B.R. Ambedkar / T l.31R. 31&asa [Option ID = 9431]

31) The total length of National Highway in Bihar is:-

R & Iedr TerATt Y For TS 8-
[Question ID = 2386]

1. 4,100 T/ 4,100 km [Option ID = 9544]
2. 2,884 frelr / 2,884 km [Option ID = 9542]
3. 2,100 f¥#Y / 2,100 km [Option ID = 9541]
4. 3,884 faf / 3,884 km [Option ID = 9543]

Correct Answer :-

32) The chairman of the planning commission of India also holds this position:-

QISTT HTANTT & HEYeT SAH & 37 UG Y ) TgoT x4t §:-
[Question ID = 2359]

1. Finance Minister / facd &3 [Option ID = 9435]

2. Prime Minister / 9&I=TeaT [Option ID = 9434]

3. Home Miniter / aJg #T [Option ID = 9436]

4, President of India / IR & Iseufa [Option ID = 9433]

Correct Answer :-
e Prime Minister / T84T [Option ID = 9434]

33) When did the Jan Shatabdi Express start in Bihar?

fER # STererared) vHFEIH F9 ¢E §§? [Question ID = 2378]

1. 2006 [Option ID = 9512]
2. 2002 [Option ID = 9510]
3. 2004 [Option ID = 9511]
4. 2000 [Option ID = 9509]

Correct Answer :-
» 2002 [Option ID = 9510]



When did Gaya airport get international status?

AT §ATE 33 F) FeAAAA TeeH Fd fAaT? [Question ID = 2372]

1. 2006 [Option ID = 9488]
2. 1999 [Option ID = 9485]
3. 2002 [Option ID = 9486]
4. 2004 [Option ID = 9487]

Correct Answer :-
« 2002 [Option ID = 9486]

35) When did rail traffic start in Bihar?

TR # Yo AT F4 ¢F §31? [Question ID = 2383]

1. 1868-69 [Option ID = 9529]
2. 1880-90 [Option ID = 9532]
3. 1860-62 [Option ID = 9530]
4. 1875-77 [Option ID = 9531]

Correct Answer :-
» 1860-62 [Option ID = 9530]



